SUMPOEBEIESAINTOIS A

SE“"’B)D SUMPO EPD 3 — R FE A AT I S
.o ,,,,, 1T NEEEE (EPD) RRIFREXPHET-14-8
VERIFIED KANDA SQUARE GATE

E5ES ¢ JR-AlI-24441E

https://ecoleaf-label.jp

ACCUrioPress
C14010

AZhI/LEBRE4
(KONICAMINOLTA ,INC.)

(BRI, BEEMFHDATS 3> PF-712,RU-518m,IQ-601,0T-512%F&, )

BEFEHEA EBRES JR-AI-24441E
HEAPCREFS PA-590000-A1-08
BEIALTY
PCR% ERA e
HEMNREFE N:I=! 2025418 10H
[ f523) O RIat RILEME 20245128208
BEMRITRE, £, B, R - EETE, BEEUYI) WREEA IATLFRELA R
RIAES JV-Al-24441

HAIEZNEAR 20294128 19H

HmOB, TELR-FET PCRLE1-DENE
I : AccurioPress C14010 EHZ 2023 98 1H
FEMH4H ZER s 82

B5XEFEEAANT-EEHE)
WENRIERE (A4): /70 140ppm/H15— 140ppm

B ARAHET1XA3
Wi T E R AR

FWahtik
AZH3IINIIvINY (B)

BERRMEXE  TEL 0120-805039

(— A& FEAY AT T IV HEERERS)
BoHRILE
NEPIRIEE AN Sk
ISO14025(CfE2T=ARE E RUT -5 DI LR EE
ORER | PaScid

AT LRI ER LR EFANORIEDIS AR, YATLRAE T LER
BOAFETLH.

Z53ES ¢ JR-Al-24441E



SuMPO EPD SUMPORIESAINTOT 5 A

SuMPO — R FE AP AT T IR B s
| ‘..E PD 1T NEBEES (EPD) HH T REX Y1148
VERIFIED KANDA SQUARE GATE
EHES ¢ JR-Al-24441E https://ecoleaf-label jp
O317V1 7V R EFMmiE R
0% 20% 40% 60% 80% 100%
SURZEED IPCC 2013 GWP 100a 15000 | kg-COzeq
ERMEAL 17 | kg-SO2eq
BREE 28| kg-Sbeq
m DR $57:E mQEE QA
EQDER-HEEE nORE-VHI
MR IEE  Hfu &% OEMEEE Q%E QB |omm wsem| OFEE-UHI
SURZED kg-CO.eq | 15E+04 | 4.1E+03 | 1.9E+02 | 9.1E+01 1.0E+04 | 3.6E+02
[y (e kg-SO.eq | 1.7E+01 3.6E+00 1.9E-01 2.5E-01 1.3E+01 2.5E-01
BERHE kg-Sbeq | 2.8E+00 || 4.7E-01 1.3E-03 3.6E-04 2.4E+00 6.2E-04
@) EaPER ©) 3 55— BE
=] BT Mﬂ meE (Eﬁi*liﬁ) Hfif
FEBERREER 1.2E+03 kg FER Gk 4.7E+02 kg
BAEMREER 2.0E+03 kg SUS 1.3E+01 kg
T3k 2.1E+01 kg
ZOMERE 1.5E+01 kg
32 4.7E-01 kg
T3AF Y 4.4E+01 kg
x 4.0E+01 kg
iy 2.9E+01 kg
/N 1.2E+01 kg
EE a2 2.0E+01 kg
hRE-Y 3.3E+01 kg




SUMPOBIESANINTOYS A
SuMPO SUMPO EPD . T :
— R EE AP AT IR S S
| ‘.'EPD F4FNEBESE (EPD) e

JAPAN i?\%%{tmzw@m1_14_8

VERIFIED KANDA SQUARE GATE

BEERES ¢ JR-AlI-24441E https://ecoleaf-label jp

GOHETERHRICET 5EMER
- BROtEG : BE

- ERERBOBERZE (EEH (EPAR) >FUA)
-BERDE AR %= SR

-TU S NS 11,750,40080%
-ERIBEDRIEER S ENTLEEA

-HEEMR. TEEIREROBRE(E. £ - #HFSEERE T ELTVWET
XEBRTRILF—RY—-TOT S LVer2 OCHVWEH U TWET

©-1.ZD Mt DIRIERDEEER
c ABRFERIRILF—-RY—-TOT S AVer.3.0([CHEE
- REGROMEITTAREE & T EEPGROAEE(FISO1400 1R EEE TI5 (CTITHNTWLET

OEALEZRT-9DEXS

IDEA ver3.1.0&fER L

@7 -YEFENDAHEE. PCRELUVEE - EEMREESRBL TS,
OLLEIIDOVNTR, B - EEREICREINLREZHLLIIHRICLIEDONE A,
(Z885EURL ! https://ecoleaf-label jp/regulation/)

EHES ¢ JR-AI-24441E



